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INTERMEDIATE EXAMINATION-2025 
bUVjehfM,V ijh{kk -2025 

( ANNUAL / okf"kZd )  

MULTIMEDIA & WEB TECHNOLOGY (ADDL) 

eYVhfefM;k ,oa osc VsDukyksth ¼ vfrfjDr fo"k; ½ 
I.Sc., I.Com., I.A.(Theory/lS)kafrd) 

 

      dqy ç”u : 70+20+6 = 96    
Total Questions  : 70+20+6 = 96         
(le; : 3 ?kaVs 15 feuV)        (iw.kkZad :100)  
[Time : 3 Hours 15 Minutes]       [Full Marks:100]      
 

ijh{kkfFkZ;ksa ds fy, funsZ'k%  
Instructions for the candidates: 

1. ijh{kkFkhZ 𝑂𝑀𝑅 mÙkj i=d ij viuk ç'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the 
OMR Answer Sheet. 

2. ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as practica-
ble. 

3. nkfguh vksj gkf”k;s ij fn, gq, vad iw.kkaZd fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4. ç'uksa dks /;ku iwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k 
x;k gSA 

15 minutes of extra time have been allotted for the candidates to read the ques-
tions carefully. 

fo"k; dksM% 123 
Subject Code: 123 
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5. ;g ç'u iqfLrdk nks [k.Mksa esa gS – [k.M&v vkSj [k.M&cA 

This Question booklet is divided into two sections-SECTION-A and  

SECTION-B. 

6. [k.M&v esa 70 oLrqfu"B ç'u gSa] ftuesa ls dsoy 35 ç'uksa dk gh mÙkj nsuk vfuok;Z 
gSA ;fn 35 Á”uksa ls vf/kd dk mÙkj nsus ij ÁFke 35 ç'uksa dk gh ewY;kadu gksxkA 
çR;sd ç'u ds fy, 1 vad fu/kkZfjr gSA budk lgh mÙkj dks miyC/k djk;s x;s OMR 
mÙkj i=d esa fn;s x;s lgh fodYi dks uhys@dkys c‚y isu ls izxk<+ djsaA fdlh Hkh 
çdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj i=d esa ç;ksx 
djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In section A there are 70 objective type questions out of which only 35 ques-
tions are to be answered. If more than 35 questions are answered, then only 
first 35 questions will be evaluated. Each question carries one mark. For an-
swering these darken the circle with blue/black ball pen against the correct op-
tion on the OMR Answer Sheet provided to you. Do not use whiten-
er/liquid/blade/nail etc. on OMR Answer sheet /otherwise the result will be 
treated invalid. 

 

7. [k.M&c esa] 20 y?kq mÙkjh; ç'u gSaA ftuesa ls çR;sd esa 2 vad fu/kkZfjr gSa] ftuesa ls 
fdlh Hkh 10 ç'uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 6 nh?kZ 
mÙkjh; ç'u fn;s x;s gSa] ftuesa ls fdUgha 3 ç'uksa dk mÙkj nsuk gSA çR;sd ç”u ds 
fy, 5 vad fu/kkZfjr gSA 

In SECTION-B, there are 20 sheet answer type questions, each carrying 2 
marks, out of which any 10 questions are to be answered. Apart from this, there 
are 8 long answer type questions, each carrying 5 marks, out of which any 3 
questions are to be answered. 

8. fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 
Use of any electronic appliances is strictly prohibited. 
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[k.M & v / SECTION-A 

oLrqfu"B ç'u / Objective Type Questions 

 

ç'u la[;k 1 ls 70 rd ds ç’u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls ,d 

lgh gSA fdUgh 35 ç'uksa ds dk mÙkj vius }kjk pqus x, lgh fodYi dks 𝑶𝑴𝑹  

'khV ij fpfºur djsaA                      𝟑𝟓 × 𝟏 = 𝟑𝟓 

Questions nos. 1 to 70 have four options, Out of which only one is correct. 

Answer any 35 questions. You have to mark your selected option on the 

OMR-sheet.               35 × 1 = 35 

1. fuEufyf[kr esa ls dkSu MsVkcsl çca/ku ç.kkyh gS\ 

(A) ,e,l oMZ (B) vksjsdy 

(C) foaMkst  (D) fyuDl 

Which of the following is a database management system? 

(A) MSWord (B) Oracle 

(C) Windows  (D) Linux 

2. 𝐷𝐵𝑀𝑆 esa dkSu lh dqath ,d fjd‚MZ dks vf}rh; :i ls igpkurh gS\ 

(A) çkbekj dh (B) QkWjsu dh  

(C) dSfMMsV dh  (D) buessa ls lHkh 

In DBMS which key uniquely identifies a record? 

(A) Primary key (B) Foreign key 

(C) Candidate key  (D) All of these 
3. fjys'kuy MsVkcsl esa] ,d rkfydk fdlls cuh gksrh gS\ 

(A) iafDr;k¡ vkSj LraHk (B) dsoy iafDr;k¡ 

(C) dsoy LraHk (D) buesa ls dksbZ ugha 
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In relational database, what does a table consist of? 

(A) Rows and Column (B) Only Rows 

(C) Only Column (D) None of these 

4. fuEufyf[kr esa ls fdldk mi;ksx MsVkcsl ls MsVk izkIr djus ds fy, fd;k tkrk 

gS\ 

(A) Mh Mh ,y (B) Mh ,e ,y 

(C) Vh lh ,y (D) Mh lh ,y 

Which of the following is used to retrieve data from a database? 

(A) DDL (B) DML 

(C) TCL (D) DCL 

5. fuEufyf[kr esa ls dkSu lk MsVkcsl e‚My dk ,d çdkj ugha gS\ 

(A) inkuqØfer 

(B) usVodZ  

(C) fjys”kuy 

(D) jSf[kd 

Which of the following is Not a type of database model? 

(A) Hierarchical (B) Network  

(C) Relational (D) Linear 

6. 𝐷𝐵𝑀𝑆 esa MsVk v[kaMrk cuk, j[kus ds fy, fuEufyf[kr esa ls fdldk mi;ksx 

fd;k tkrk gS\ 

(A) la;e (B) dlZj 

(C) fVªxlZ (D) O;wt+ 

Which of the following is used to maintain data integrity in DBMS? 

(A) Constraints (B) Cursors 

(C) Triggers (D) Views 

7.  𝑀𝑆 𝐴𝑐𝑐𝑒𝑠 esa fuEufyf[kr esa ls dkSu lk ,d oS/k MsVk çdkj gS\ 
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(A) ikB  (B) Nfo  

(C) /ofu  (D) çstsaVs”ku 

Which of the following a valid data type in MS Access? 

(A) Text  (B) Image  

(C) Sound  (D) Presentation 

8. 𝑀𝑆 𝐴𝑐𝑐𝑒𝑠𝑠 dk igyk laLdj.k fdl o"kZ tkjh fd;k x;k Fkk\ 

(A)  1989 (B)  1992 

(C)  1995 (D)  2000 

In which year was the first Version of MS Access released? 

(A) 1989 (B) 1992 

(C) 1995 (D) 2000 

9. 𝑀𝑆 𝐴𝑐𝑐𝑒𝑠 esa fuEufyf[kr esa ls dkSu lh lqfo/kk gVk nh xbZ Fkh\ 

(A) fioVpkVZ  (B) Dosjht+  

(C) fjiksVZ (D) eSØkst+ 

Which of the following features was removed in MS Access? 

(A) Pivot chart  (B) Queries  

(C) Reports (D) Macros 

10.  𝑆𝑄𝐿 dk D;k vFkZ gS\ 

(A) lajfpr Dosjh ySaxost (B) ljy Dosjh ySaxost 

(C) vuqØfed Dosjh ySaxost (D) buesa ls dksbZ ugha 

What does SQL stand for? 

(A)  Structured Query Language  (B)  Simple Query Language 

(C) Sequential Query Language  (D)  None of these 

11.  dkMZ jhMj dk çkjafHkd laLdj.k D;k Fkk\ 

(A) dkMZ çkslslj (B) eseksjh fLVd 

(C) lsdsaMjh jhMj (D) iPaM dkMZ jhMj 
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What was the initial version of a card reader? 

(A) Card processor (B) Memory stick 

(C) Secondary reader (D) Punched card readers 

12. fçaVj D;k gS\ 

(A) l‚¶Vos;j (B) gkMZos;j 

(C) usVofdaZx midj.k (D) buiqV midj.k  

What is a printer? 

(A) Software (B) Hardware 

(C) Networking device (D) Input device 

13. pkyZ~l ccst+ }kjk cukbZ xbZ e'khu dks D;k dgk tkrk gS\ 

(A) fMQjsUl batu   (B) iSLdSfyu 

(C) iPaM dkMZ   

  

(D) bysDVª‚fud U;wesfjdy 

baVhxzsVj 

What is the machine made by Charles Babbes called? 

(A) Difference Engine   (B) Pascaline 

(C) Punched card  

  

(D) Electronic Numerical In-

tegrator 

14. 𝐴𝑆𝐶𝐼𝐼 fdrus fHkUu o.kZ çnku dj ldrk gS\ 

(A) 256 (B) 512 

(C) 1024 (D) 128 

How many different characters can ASCII provided? 

(A) 256 (B) 512 

(C) 1024 (D) 128 

15.  (1000)ଶ ds 2 iqjd fuEu esa ls D;k gS\ 

(A) 0111 (B) 0101 

(C) 1000 (D) 0001 
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2’s compliment of (1000)ଶ is? 

(A) 0111 (B) 0101 

(C) 1000 (D) 0001 

16. daI;wVj dh igyh ih<+h esa dkSu ls fMokbl dk mi;ksx fd;k x;k Fkk\ 

(A) eSXusfVd Vsi (B) ekbØksçkslslj 

(C) fuokZr uyh (D) çkslslj 

Which of the following devices was used in the first generation of comput-

er? 

(A) Magnetic tape (B) Microprocessor 

(C) Vacuum tube (D) Processer 

17.  fuEufyf[kr esa ls dkSu lk v‚ijsfVax flLVe 64 fcV çkslslj dk leFkZu djrk 

gS\ 

(A) foaMkst 95 (B) foaMkst 98 

(C) foaMkst 2000 (D) foaMkst 7 

Which of the following Operating system support 64 bit processor? 

(A) Windows 95 (B) Windows 98 

(C) Windows 2000 (D) Windows 7 

18.  ,d lfØ; foaMks dks cUn djus ds fy, fdl dqaft;ksa la;kstu dk mi;ksx fd;k 

gS\ 

(A) Ctrl + F1 (B) Ctrl + F3 

(C) Ctrl + F2 (D) Ctrl + W 

Which key combination is used to close an active window? 

(A) Ctrl + F1 (B) Ctrl + F3 

(C) Ctrl + F2 (D) Ctrl + W 

19. Þ𝐴𝑆𝑃ß dk iwjk :i D;k gS\ 

(A) ,fDV loZj istst (B) ,Mokal loZj çksxzkfeax 
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(C) ,fDV loZj çksVksd‚y  (D) buesa ls dksbZ ugha 

What is the full form of “ASP”? 

(A) Active server Pages 

  

(B) Advanced Server Pro-

graming 

(C) Active Server Protocol   (D) None of these 

20. ̂^,,lih^^ esa dkSu lh fLØfIVax Hkk"kk dk mi;ksx fd;k tkrk gS\ 

(A) VBScript (B) JavaScript 

(C) PerlScript (D) None of these 

Which scripting language is used in “ASP”? 

(A) VBScript (B) JavaScript 

(C) PerlScript (D) None of these 

21. fuEufyf[kr esa ls dkSu lh vkWCtSDV ^^𝐴𝑆𝑃^^ ?kVd ugha gS\ 

(A) Linker Counter (B) Counter 

(C) AdRotator (D) None of these 

Which of the following object is not an “ASP” component? 

(A) Linker Counter (B) Counter 

(C) AdRotator (D) None of these 

22. fuEufyf[kr esa ls dkSu 𝐴𝐷𝑂𝐷𝐵. 𝐶𝑜𝑚𝑚𝑎𝑛𝑑 v‚CtsDV dk lnL; ugha gS\ 

(A)  ExecuteScalar (B)  ExecuteStream 

(C)  Open (D)  None of these 

Which of the following is not a member of ADODB.command Object? 

(A) ExecuteScalar (B) ExecuteStream 

(C) Open (D) None of these 

23. og csl Dykl D;k gS ftlls lHkh osc Q‚eZ çkIr gksrs gSa\ 

(A) Master Page (B) Page Class 

(C) Session class (D) buesa ls dksbZ ugha 
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What is the base class from which all web forms inherit? 

(A) Master Page (B) Page Class 

(C) Session class (D) None of these 

24.  𝐴𝑆𝑂 ?kVdksa esa ls dkSu lk bZesy Hkstus ds fy, mi;ksx fd;k tkrk gS\ 

(A) CDO.Message (B)  Server.Mail 

(C) COD.Message (D)   buesa ls dksbZ ugha 

Which of the following ASP components is used for sending emails? 

(A) CDO.Message (B) Server.Mail 

(C) COD.Message (D) None of these 

25. 𝐴𝑆𝑃 esa] dqdht+ dk çca/ku djus ds fy, buesa ls fdldk mi;ksx fd;k tkrk gS\ 

(A) ,fIyds”ku v‚CtsDV (B) ls”ku v‚CtsDV 

(C) fjDosLV vkSj fjLikal v‚CtsDV    (D)  loZj v‚CtsDV 

In ASP, which of the following is used to manage cookies? 

(A) Application Object (B) Session Object 

(C) Request and Response Object              (D)  Server Object 

26.  𝐴𝑆𝑃 esa dqdh fy[kus ds fy, fdl fof/k dk mi;ksx fd;k tkrk gS\ 

(A) fjDosLV-jkbV (B) ls”ku-jkbV 

(C) fjLikal-jkbV (D) buesa ls dksbZ ugha 

Which method is used to write a cookie in ASP? 

(A) Request.Write (B) Session.Write 

(C) Response.Write (D) None of these 

27. dksM ds ,d Cy‚d ij fof'k"V la[;k esa iqujko`fÙk djus ds fy, ^^,,lih^^ esa  

fdl ywi dk mi;ksx fd;k tkrk gS\ 

(A) QkWj---usDLV (B) Mw---okby 

(C) okby---osaM (D) buesa ls lHkh 
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Which loop is used in “ASP” to iterate over a block of code a specific 

number of times? 

(A) For…….Next (B) Do……While 

(C) While….Wend (D) All of these 

28. 𝐴𝑆𝑃 esa] ^𝐼𝑓^ dFku esa dbZ 'krksaZ dks tksM+us ds fy, fdl v‚ijsVj dk mi;ksx 

fd;k tkrk gS\ 

(A) ‘+’ (B) ‘&&’ 

(C) ‘And’ (D) ‘||’ 

In ASP, what operator is used to combine multiple conditions in an ‘IF’ 

statement? 

(A) ‘+’ (B) ‘&&’ 

(C) ‘And’ (D) ‘||’ 

29. ̂^𝐴𝑆𝑃^^ MsVkcsl ds lkFk dSls baVjSDV djrk gS\ 

(A) 𝐻𝑇𝑇𝑃 vuqjks/k dk mi;ksx djds  (B) 𝑆𝑄𝐿 Qkbyksa ds ek/;e ls 

(C)  ,lD;w,y Dosjht ds ek/;e ls  (D) buesa ls dksbZ ugha 

How does “ASP” interact with a database? 

(A) Using HTTP request (B) Via XML files 

(C) Through SQL queries (D) None of these 

30.  pj ?kksf"kr djus ds fy, fuEufyf[kr esa ls dkSu lk "𝐴𝑆𝑃" flaVSDl lgh gS\ 

(A) Var myvar=”value” (B) Dim myvar=”value” 

(C) let myvar=”value” (D) Set myvar=”value” 

Which of the following is a valid “ASP” syntax for declaring a variable? 

(A) Var myvar=”value” (B) Dim myvar=”value” 

(C) let myvar=”value” (D) Set myvar=”value” 

31.  𝐴𝑆𝑃  esa ^^Response.Write^^ esFkM D;k djrk gS\ 
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(A) ;g Q+kby ls MsVk i<+rk gS     (B)  ;g MsVk dks loZj Hkstrk gS 

(C)  ;g MsVk DykbaV ds osc czkmtj dks Hkstrk gS  

(D) buesa ls lHkh 

What does the “Response write method do in “ASP”? 

(A) It read data from a file (B) It sends data to server 

(C) It sends data to the cli-

ent’s web browser 

(D) All of these 

32.  fuEufyf[kr esa ls dkSu lk fodYi gkQ&MqIysDl dE;wfuds”ku fMokbl dk 

mnkgj.k gS\ 

(A) jsfM;ks (B) VsyhQksu 

(C) Vsyhfotu (D) okWdh&VkWdh 

Which of the following option is an example of half-duplex Communica-

tion device? 

(A) Radio (B) Telephone 

(C) Television (D) Wacky-Tacky 

33. fuEufyf[kr esa ls fdldk ç;ksx v‚fIVdy Qkbcj esa MsVk Hkstus ds fy, fd;k 

tkrk gS\ 

(A) daiu (B) çdk'k 

(C) /ofu (D) fo|qr /kkjk  

Which among the following is used to transmit data in optical fiber? 

(A) Vibrations (B) Light 

(C) Sound (D) Electrical current 

34. Wi-Fi dk iw.kZ :i D;k gS\ 

(A) ok;MZ QkbYl (B) ok;jysl Qkby 

(C) ok;jysl fQMsfyVh (D) buesa ls dksbZ ugha 
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What is the full form of Wi-Fi? 

(A) Wired files (B) Wireless file 

(C) Wireless fidelity (D) None of these 

35. fuEufyf[kr esa ls dkSu&lk ekU; 𝐼𝑃 ,Msªl ugha gS\ 

(A) 200.200.256.200 (B) 90.90.90.90 

(C) 100.100.100.100 (D) 10.10.10.10 

Which of the following is not valid IP address? 

(A) 200.200.256.200 (B) 90.90.90.90 

(C) 100.100.100.100 (D) 10.10.10.10 

36. buesa ls dkSu&lk usVodZ lkekU;r% ns'kHkj esa QSyk gqvk gksrk gS\ 

(A) iSu (B) ySu 

(C) oSu (D) eSu 

Which of these networks usually spread over countries? 

(A) PAN (B) LAN 

(C) WAN (D) MAN 

37. fuEu esa ls dkSu&lk 'kCn usVodZ lqj{kk ls lacaf/kr gS\ 

(A) DLS (B) MIT 

(C) W3C (D) Qk;jo‚y 

Which among the following terms is related to network security? 

(A) DSL (B) MIT 

(C) W3C (D) Firewall 

38. fuEufyf[kr esa ls dkSu&lk gkMZos;j ′′𝑊𝐴𝑁′′ ds fy, vko';d gS\ 

(A) fczt (B) fLop 

(C) jkmVj (D) Qk;jo‚y 

Which of the following hardware is essential for “WAN”? 
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(A) Bridge (B) Switch 

(C) Router (D) Firewall 

39. fuEufyf[kr esa ls dkSu 𝑂𝑆𝐼 e‚My dk igyk Lrj gS\ 

(A) HkkSfrd Lrj (B) J`a[kyk Lrj 

(C) ifjogu Lrj (D) usVodZ Lrj 

Which of the following is first layer of OSI model? 

(A) Physical layer (B) Link layer 

(C) Transport layer (D) Network layer 

40. 𝐿𝐴𝑁 dk iw.kZ :i D;k gS\ 

(A) yksdy ,fj;k usVodZ (B) fyfeVsM ,fj;k usVodZ 

(C) fyaDM ,fj;k usVodZ (D) buesa ls dksbZ ugha 

What is the full form of LAN? 

(A) Local Area Network  (B) Limited Area Network 

(C)  Linked Areas Network  (D) None of these 

41. fuEufyf[kr esa ls dkSu&lk ekbØksl‚¶V }kjk fodflr ,d osc czkmtj gS\ 

(A) Qk;jQ‚Dl  (B) baVjusV ,DlIyksjj 

(C) foaMks ,DlIyksjj (D) usVLdsi 

Which among the following is a web browser developed by Microsoft? 

(A) Firefox  (B) Internet Explorer 

(C) Windows Explorer (D) Netscape 

42. fuEufyf[kr esa ls dkSu lk ,d lpZ batu ugha gS\ 

(A) xwxy (B) vYVkfoLVk 

(C) lkbal (D) v‚dqZV 

Which of the following is not a search Engine? 

(A) Google (B) Altavista 
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(C) Science (D) Orkut 

43. fuEufyf[kr esa ls dkSu ,d osc czkmt+j ugha gS\ 

(A) Økse (B) Qk;jQ‚Dl 

(C) lQkjh (D) fyuDl 

Which of the following is not a web browser? 

(A) Chrome (B) Firefox 

(C) Safari (D) Linux 

44. fuEufyf[kr esa ls dkSu lk ohfM;ks dk ,d çk:i ugha gS\ 

(A)  MSQ (B)   MP4 

(C)   WMV (D)   AVI 

Which of the following is not a Format for videos? 

(A) MSQ (B) MP4 

(C) WMV (D) AVI 

45. fuEufyf[kr esa ls dkSu ,d best dk ,d NksVk laLdj.k gS\ 

(A) FkEcusy  (B) fcVeSi 

(C) fDyivkVZ (D) buesa ls dksbZ ugha 

Which of the following is a small version of an image? 

(A) Thumbnail  (B) Bitmap 

(C) Clipart (D) None of these 

46. 𝐻𝑇𝑀𝐿 dk vkfo"dkj fdlds }kjk fd;k x;k Fkk\ 

(A) fVe cuZlZ&yh (B) fcy xsV~l 

(C) LVho t‚Cl (D) ySjh ist 

Who is the credited with inventing HTML? 

(A) Tim Berners-Lee (B) Bill Gates 

(C) Steve Jobs (D) Larry Page 

47. 𝐻𝑇𝑀𝐿 dk igyk laLdj.k fdl o"kZ tkjh fd;k x;k Fkk\ 
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(A) 1990 (B) 1991 

(C) 1993 (D) 1995 

In which year was the first version of HTML released? 

(A) 1990 (B) 1991 

(C) 1993 (D) 1995 

48. 𝐻𝑇𝑀𝐿 esa gkbijfyad cukus ds fy, fdl VSx dk mi;ksx fd;k tkrk gS\ 

(A)  ‘<img>’ (B)  ‘<a>’ 

(C)  ‘<link>’ (D)  ‘<href>’ 

Which tag is used to create a hyperlink in HTML? 

(A) ‘<img>’ (B) ‘<a>’ 

(C) ‘<link>’ (D) ‘<href>’ 

49.  fuEufyf[kr esa ls fdl VSx dk mi;ksx 𝐻𝑇𝑀𝐿 esa Vscy cukus ds fy, fd;k 

tkrk gS\ 

(A)   ‘<table>’ (B)   ‘<tr>’ 

(C)   ‘<td>’ (D)   All of these 

Which of the following tags is used to create a table in HTML? 

(A) ‘<table>’ (B) ‘<tr>’ 

(C) ‘<td>’ (D) All of these 

50. 𝐻𝑇𝑀𝐿 esa fVIi.kh tksM+us ds fy, fdl VSx dk mi;ksx fd;k tkrk gS\ 

(A) ‘<comment>’ (B) ‘<!--- >’ 

(C) ‘<!----  --->’ (D) </-----     ----> 

Which tag is used to add a comment in HTML? 

(A) ‘<comment>’ (B) ‘<!--- >’ 

(C) ‘<!----  --->’ (D)  </-----     ----> 

51. ¶yS'k esa v‚fM;ks vkSj ohfM;ks LVªhe djus dh rduhd dks D;k dgk tkrk gS\ 

(A) ¶yS'k ohfM;ks (B) ¶yS'k LVªhe 
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(C) ¶yS'k ehfM;k loZj (D) buesa ls dksbZ ugha 

What is the term for the technology that enables Flash to stream audio and 

video? 

(A) Flash video (B) Flash stream 

(C) Flash Media Server (D) None of these 

52. ¶yS'k ohfM;ks QkbYl ds fy, fdl çk:i dk mi;ksx fd;k tkrk gS\ 

(A) .flv (B) .avi 

(C) .mp4 (D) .mkv 

Which format is used for Flash video files? 

(A) .flv (B) .avi 

(C) .mp4 (D) .mkv 

53. ,Mksc ¶yS'k esa mi;ksx dh tkus okyh fLØfIVax Hkk"kk dk D;k uke gS\ 

(A) ActionScript (B) JavaScript  

(C) HTML (D) CSS 

What is the name of the scripting language used in adobe Flash? 

(A) ActionScript (B) JavaScript  

(C) HTML (D) CSS 

54. dkSu-Lk ,Mksc ¶yS'k Vwy osDVj xzkfQDl cukus vkSj laikfnr djus ds fy, mi;ksx 

fd;k tkrk gS\ 

(A) isu Vwy (B) cz'k Vwy 

(C) “ksi Vwy  (D) buesa ls lHkh 

Which Adobe Flash tool is used to create and edit vector graphics? 

(A) Pen Tool (B) Brush Tool 

(C) Shape Tool (D) All of these 

55. vki ^^𝐴𝑆𝑃^^ esa ,d vk;keh 𝑎𝑟𝑟𝑎𝑦 dSls ?kksf"kr fd;k tkrk gSa\ 



Page 17 of 24 
 

(A) ‘Dim arr(5)’ (B) ‘arr=newArray(5)’ 

(C) ‘arr[]={1,2,3,4,5}’ (D) buesa ls dksbZ ugha 

How do you declare a one dimensional array in “ASP”? 

(A) ‘Dim arr(5)’ (B) ‘arr=newArray(5)’ 

(C) ‘arr[]={1,2,3,4,5}’ (D) None of these 

56. ̂^𝐴𝑆𝑃^^ esa nks ekuksa dh lekurk dh rqyuk djus ds fy, dkSu&lk v‚ijsVj dk 

mi;ksx fd;k tkrk gS 

(A)  ‘=’ (B)   ‘<>’ 

(C)   ‘==’ (D)   ‘!=’ 

Which operator is used to compare two values for equality in “ASP” 

(A)   ‘=’ (B)   ‘<>’ 

(C)   ‘==’ (D)   ‘!=’ 

57. fuEufyf[kr esa ls dkSu lk ,d lkekU; usVodZ Vksiksy‚th gS\ 

(A) LVkj (B) ldZy 

(C) ywi  (D) psu 

Which of the following is a common network topology? 

(A) Star (B) Circle 

(C) Loop  (D) Chair 

58.  Þ𝐼𝑆𝑃ß dk iw.kZ :i D;k gS\ 

(A) baVjusV lfoZl çksokbMj (B) baVjusV lhfj;y çksokbMj 

(C) vkarfjd lfoZl çksokbMj (D) baVjusV loZj 

What is the full form of “ISP”? 

(A) Internet Service Provider (B) Internet Serial Provider 

(C) Internal Service Provider (D) Internet Server 
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59. baVjusV ,DlIyksjj ds fdl laLdj.k esa 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 dks lcls igyk leFkZu feyk 

Fkk\ 

(A) baVjusV ,DlIyksjj 2 (B) baVjusV ,DlIyksjj 4 

(C) baVjusV ,DlIyksjj 3 (D) baVjusV ,DlIyksjj 5 

Which version of Internet Explorer was first of all supported VBScript? 

(A) Internet Explorer 2 (B) Internet Explorer 4 

(C) Internet Explorer 3 (D) Internet Explorer 5 

60. fuEufyf[kr esa ls dkSu&lk 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 dk ,d mYys[kuh; vuqç;ksx gS\ 

(A) ekbØksl‚¶V v‚fQl 

Lopkyu 

(B) osc LØSfiax 

(C) flLVe ç'kklu (D) xse fodkl 

Which of the following is a notable application of 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡? 

(A) Microsoft Office au-

tomation 

(B) Web Scraping 

(C) System administration (D) Game development 

61. 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 Qkby dk ,DlVsa'ku D;k gksrk gS\ 

(A) .vbs (B) .vb 

(C) .js (D) .txt 

What is the extension of a 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 file? 

(A) .vbs (B) .vb 

(C) .js (D) .txt 

62.  𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 esa ,d osfj,cy dSls ?kksf"kr fd;k tkrk gS\ 

(A) oj oSfj,cyuke (B) ean oSfj,cyuke 

(C) osfj,cyuke ?kksf"kr djsa 
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(D) osfj,cyuke dks ifjHkkf"kr djsa 

What do you declare a variable in VBScript? 

(A) var variableName (B) dim variableName 

(C) declare variableName (D) define variableName 

63. 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 esa fdlh fLVªax dh yackbZ çkRi djus ds fy, dkSu lk QaD'ku dk 

mi;ksx fd;k tkrk gS\ 

(A) len() (B) length() 

(C) strlen() (D) strlength() 

Which function is used to get the length of a string in VBScript? 

(A) len() (B) length() 

(C) strlen() (D) strlength() 

64.  fuEufyf[kr esa ls dkSu lk VBScript esa ,d varfuZfgr QaD'ku gS\ 

(A) Alert() (B) Print() 

(C) Cstr() (D) Log() 

Which of the following is a built-in function in VBScript? 

(A) alert() (B) Print() 

(C) Cstr() (D) log() 

65. 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 esa fLVªax la;kstu ds fy, dkSu lk v‚ijsVj dk mi;ksx fd;k tkrk 

gS\ 

(A) + (B) & 

(C) && (D) % 

What operator is used for string concatenation in VBScript? 

(A) + (B) & 

(C) && (D) % 
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66. 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 esa ,d QaD'ku dks dSls lekIr djrs gSa\ 

(A) End function (B) Function end 

(C) Stop function (D) Function exist 

How do you end a function in VBScript? 

(A) End function (B) Function end 

(C) Stop function (D) Function exist 

67.  𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 esa ,d ,sjs dks ifjHkkf’kr djus ds fy, dkSu LVsVesaV dk mi;ksx 

fd;k tkrk gS\ 

(A) Dim abc() (B) Array abc() 

(C) Define abc() (D) Create abc() 

Which statement is used to define an array in VBScript? 

(A) Dim abc() (B) Array abc() 

(C) Define abc() (D) Create abc() 

68. 𝑉𝐵𝑆𝑐𝑟𝑖𝑝𝑡 esa orZeku frfFk vkSj le; dSls çkIr fd;k tkrk gSa\ 

(A) Now() (B) GetDate() 

(C) CurrentTime() (D) DateTime() 

How do you get the current date and time in? 

(A) Now() (B) GetDate() 

(C) currentTime() (D) DateTime() 

69. VBScript esa eSlst c‚Dl çnf'kZr djus ds fy, dkSu lh fof/k dk mi;ksx fd;k 

tkrk gS\ 

(A) MsgBox (B) DisplayBox 

(C) ShowBox (D) AlertBox 

Which method is used to display a message box in VBScript? 
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(A) MsgBox (B) DisplayBox 

(C) ShowBox (D) AlertBox 

70.  VBScript esa ywi cukus ds fy, fuEufyf[kr esa ls fdldk mi;ksx fd;k tkrk 

gS\ 

(A) If-Else (B) Do-While 

(C) Switch  (D) Select Case 

Which of the following is used to create a loop in VBScript? 

(A) If-Else (B)  Do-While 

(C) Switch  (D) Select Case 

 

 

[k.M&c /SECTION-B 

y?kq mÙkjh; ç'u /Short Answer Type Questions 

ç'u la[;k 1 ls 20 y?kq mÙkj çdkj ds gSaA fdlh Hkh 10 ç'u dk mÙkj nhft,A 

çR;sd ç'u 2 vad dk gSA        𝟏𝟎 × 𝟐 = 𝟐𝟎 

Question Nos 1 to 20 are Short Answer Type. Answer any 10 

questions. Each question Carries 2 marks.      10 × 2 = 20  

1. VBScript D;k gS] vkSj bls lkekU; dgk¡ mi;ksx fd;k tkrk gS\     2 

What is VBScript, and where is it commonly used? 

2. VBScript esa fdlh fLVªax dks vijdsl esa dSls cnyrs gSa\      2 

How do you Convert a string to uppercase in VBScript? 

3. VBScript esa ^MsgBox^ QaD'ku ds mi;ksx dks le>k,aA       2 
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Explain the use of the ‘MsgBox’ function in VBScript. 

4. 𝐻𝑇𝑀𝐿 D;k gS vkSj bldk mi;ksx fdl fy, fd;k tkrk gS\      2 

What is 𝐻𝑇𝑀𝐿, and what is it used for? 

5. 𝐻𝑇𝑀𝐿 esa gkbijfyad dSls cukrs gSa\         2 

How do you create a hyperlink in HTML? 

6. 𝐻𝑇𝑀𝐿 esa VsDLV dks cksYM dSls djrs gSa\        2 

How do you make text bold in HTML? 

7. 𝑋𝑀𝐿 dk iwjk uke D;k gS\           2 

What does XML stand for? 

8. 𝑋𝑀𝐿 iklZj D;k gS\           2 

What is an XML Parser? 

9. 𝑋𝑀𝐿 Ldhek dk D;k mís'; gS\           2 

What is the purpose of an XML schema? 

10. 𝑋𝑀𝐿 vkSj 𝐻𝑇𝑀𝐿 ds chp D;k varj gSA          2 

Difference between XML and HTML. 

11. vkbZih ,Mªsl D;k gS\            2 

What is an IP Address? 

12. fLop vkSj jkmVj esa D;k varj gS\          2 

What is difference between switch and router? 

13. eYVhehfM;k D;k gS\            2 

What is multimedia? 

14. fMftVy QksVksxzkQh D;k gS\           2 

What is digital photography? 
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15. ,,lih esa dqdht D;k gSa\            2 

What are cookies in ASP? 

16. ,,lih esa ADODB D;k gS\           2 

What is ADODB in ASP? 

17. MsVkcsl esa QkWjsu dh D;k gS\           2 

What is foreign key in database? 

18. Mh,pVh,e,y D;k gS\            2 

What is DHTML? 

19. 𝐻𝑇𝑀𝐿 vkSj 𝐷𝐻𝑇𝑀𝐿 esa D;k varj gS\          2 

What is the difference between HTML and DHTML? 

20. daI;wVj ds eq[; Hkkx D;k gSa\           2 

What are the main parts of a computer? 

nh?kZ mÙkjh; ç'u / Long Answer Type Questions 

ç'u la[;k- 21 ls 26 rd nh?kZ mÙkjh; ç'u gSaA fdUgha rhu ç'uksa ds mÙkj 

nhft,A çR;sd ç'u 5 vad dk gSA        3 × 5 = 15 

Question no. 21 to 26 are long Answer Type Questions. Answer 

any 3 questions. Each question carries 5 marks.         3 × 5 = 15 

21. TCP/IP çksVksd‚y D;k gS\ bldk dk;Z çfØ;k D;k gS\       5 

What is the TCP/IP Protocol? What is its working function? 
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22. VBScript esa ,d QaD'ku dSls cuk;k tk ldrk gSa\ ,d QaD'ku fy[ksa tks  

nks la[;k,¡ tksM+rk gSA            5 

How can you create a function in VBScript? Write a function that adds  

two numbers. 

23. VBScript esa =qfV çca/ku dSls fd;k tkrk gS] bldk o.kZu djsaA           5 

Describe how error handling is managed in VBScript. 

24. 𝐻𝑇𝑀𝐿 esa ,d Vscy dSls cuk ldrs gSa\ ,d mnkgj.k nsaA                  5 

How can you create a table in HTML? Give an example. 

25. 𝐻𝑇𝑀𝐿 nLrkost ls ckgjh 𝐶𝑆𝑆 Qkby dks fyad djus dk lgh rjhdk D;k  

gS\ ,d mnkgj.k nsaA             5   

What is the correct way to link an external CSS file to an HTML docu-

ment? Give an example. 

26. daI;wVj vkfdZVsDpj dh vo/kkj.kk dks le>kb,aA eq[; ?kVdksa vkSj muds dk;ksaZ  

dk o.kZu djsaA                  5 

Explain the concept of computer architecture. Describe the main compo-

nents and their functions. 

 


